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Question 1 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Jang obsarsed some hamslers in (e sat-up shown habos,

A e
AT ; P——cover with holes
AR goads
hamaiars ;{‘ ), 0 ]
N i

———a

Afler one weak, the hamsters wars daad. Which ane of the fallvwing Is: mosl Baly
bo be the reason why the hamaters ware desd?

v" A) There was no water
B) There was not enough air
C) There was not enough space

D) There was not enough sunlight

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 30th Sep 2020

Last Modified: N/A

QID#: 23,980,991
Question 2 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Bird's
s fem

Sludy the pictures below.
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How I the: bird’s nest femn different from the mushroom?

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

A) AandB only
B) AandD only
C) BandConly

v' D) CandDonly

L Bird's nest fern Mushroom
i) Fungi ] Plaml |
@ Mo Mkwers Haz ;l::wm
2] Reproduces by seads Reproduces by spores
4} Neads sunlight to grow Does not need ,-j.;;j!!ig_ht__r_:_r grow
A) 1
B) 2
c) 3
v D) 4

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,980,997

Organigm X

A - Measure the langth of &s body
B : Look for the pressnce of wings.
C Count the mumbar af legs It has.
[ : Gount the number of body pars i has.

Primary 4 Science » Primary 4 Science (Term 2)

Samy found ai unknown organism X in bis garden,

His mother said thak M organism was an insect. n order b find oul il Organism X
is @n frisect, which one of he lollowing should ha carmry out?
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Question 4 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
Study the flowcharl below.

Animals

Does it hawe
& legs?

| Mo

Does the
famale produce
miik for iis
YOUmg 7

Based on the llowcharl above, which of the foliowing best describes a cat?

A) Q
B) R
v C) s

D) T
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Qu estion 5 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

& car manufaciurer had 1o decide on the best matarial o make the dffarant pars of

the car.
£ i
[’ jo

Which one of the: Tollowing is the best material to makee the tyes of thi ca?

A) glass
B) metal
v C) rubber
D) plastic
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,030
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¥inyi conducted a test using 3 objects, P, 2 and R that wore made of different
mal=risks. The result was shown balow.

Question 7

B respoctivaly ¥
Ghoup A Group B
i1 weak slrong
2] waterproof nat waterprool
{3 fexble | st
4} Sanks N waber floals on waler
A) 1
B) 2
C) 3
v' D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,037

The fable below describes the stages of e cyches of Tour animais.

Which ene of the folowing best desciibes the property mpresensd by Groop A and

Primary 4 Science » Primary 4 Science (Term 2)

https://www.classmarker.com/a/tests/test/?test_id=1532895&trk=edittest_inrow_edit

Deacription Animal | Animal | Anima | Animal
o A B c D

There are 4 stages in is e cycle, Mo Moy Yes o

The adult lays eggs on land Yos Mo e Mo

The young resembles the adult., Was Mo M He
Based i i i i i
m:: s By mﬁu;rmlmn in the tahle above, which of the animals best describes i
A) Animal A
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B) Animal B
¥v' C) Animal C

D) Animal D
Question Type: Multiple Choice
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Question 8 Primary 4 Science » Primary 4 Science (Term 2)

The pictures below show the adult frog and ils young.

_%

Young

The statemenis below describe the young and adull of the frog.

A . The young does not resemble the adult
B : Both the young and the adult have a tajl,
C : The adult has legs but the young does naot.

Which of the above statements are correct?

v A) Aand Conly
B) B and C only
C) AandB only
D) A, BandConly

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 30th Sep 2020

Last Modified: N/A
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Question 9 Primary 4 Science » Primary 4 Science (Term 2)

Look at the diagrams below. Which life cycle is not correct?x
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A)

B)

C)

v D)

Life Cyele of Cock

/N,

agg €——————

/Eﬂﬂ\
‘\ /

Life Cycle of Frog
young

/N

Egg adult

Life Cycle of Fish

/N

young < adull

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 30th Sep 2020
Last Modified: N/A

QID#:
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Study the flowchart bolow,

stages in the life
cycle?

Droes it lay egg
I wetbezr?

Based on the Mowchart, which of the above letters best represents the mealwarm

besatie and mosguita? ]
— -
Mealworm beatin Mosaquito

{1} & X

{2y ¥ %

(3 X .

(4) £ oy ]
A) 1
B) 2
C) 3

v' D) 4

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 30th Sep 2020

Last Modified: N/A

QID#: 23,981,074
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Lanm Fupa deuill

Kelly obsarvad the diffeent stages of the iifa cyche of 8 butledly, She then plotied
her ohsenvation in the chart below

agg has hatched?

A) 10 days
B) 20days
C) 35days

v' D) 55days

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12
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Muiltiple Choice

No

Wed 30th Sep 2020
N/A

23,981,082

The diagram shows a planl

A) ltis an adult plant as it has flowers and fruits
v' B) The plant gets food from its seed leaves at this stage

C) The roots grow downwards so that the plant can get water

Hew rmaiy daya woulkd i take for the young o become an adull bubierily after fhe

Primary 4 Science » Primary 4 Science (Term 2)

Some students made some comments on the plant afler bserving it
VWhich statement is not correct?

D) The stem grows upwards for the plant to get as much sunlight as possible

2 pts
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Question 13

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,098
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The: disgram baiow shows a seedling. The parts A, B, C and D have been labelled.
Fefer ko the dizgram o answss both questions 13 and 14

A

Wihich perl of ihe seadling geows first during genmination 7

A) A
B) B
c) C
D) D

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 14

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,111

Primary 4 Science » Primary 4 Science (Term 2)

Which of the following describes the funclion of the pads of the seadling Connaciiy?

| Absorhs water | Makes food

mi et il
(2 B | & )
)] (H ]
{4 B A

A) 1

B) 2

c) 3

D) 4
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Question 15

A: type of plant
B: amount of water
C: location where the

A) AandBonly
B) Cand D only
C) B, CandDonly

v' D) A, CandD only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 16

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,122

plants are placed

D: height of the plants before the experiment

Muiltiple Choice

No

Wed 30th Sep 2020
N/A

23,981,147
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Primary 4 Science » Primary 4 Science (Term 2)

Jensen wants to carry out an experiment to find out if more water causes a plant to grow taller. Some of
the variables of the experiment are listed below.

Which of the variables should he keep the same to ensure that the experiment is fair?

Primary 4 Science » Primary 4 Science (Term 2)

The table balow describes the properties of P and Q.

A) air
B) milk
C) marble

¥ D) sound

Which of the following could Q be?

P Q
Has mass Has no mass.
" Occuples space Does not occupy space

https://www.classmarker.com/a/tests/test/?test_id=1532895&trk=edittest_inrow_edit
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 30th Sep 2020

Last Modified: N/A

QID#: 23,981,157

Qu estion 17 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

The picture below shows a bag of flour and a bag of sugar.

Which one of the following statements is true?

A) The bag of sugar is lighter than the bag of flour
B) The bag of sugar is heavier than the bag of flour
¥ C) The bag of sugar has the same mass as the bag of flour

D) The bag of sugar has the same volume as the bag of flour

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 30th Sep 2020

Last Modified: N/A

QID#: 23,981,178

Question 18 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Zul placad iron balls of dilfemnl stees i esch of e 4 glazs comlaires, W, 2, Y
and Z. Then, he posred waler indo 2ach container =t the watar kel in all the
cantaingrs has machad the same height. as shown badow.

b wihich of five following gless containess &d S pour the most smount of waler?

A) W
v B) X
Y

C)

D) Z
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Question 19

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,190
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Primary 4 Science » Primary 4 Science (Term 2)

Zi Ting added a pebblz inta a measuring cyfinder containing 30ml of waler as

shown balow,

A,

Before

What is the valume of the pebbie?

A) 5cm3
B) 10cm3

v C) 15cm3

D) 20cm3

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 20

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,207

Aftar
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The foflowing apparatus are found in the laboratory.

O A

E‘:nntain-er A Container B Container C
with capacity with capacity with capacily
of 100cm? of 120cm? of 150cm?

Which container can contain 130cm? of air?

A) Conly
B) A andB only
C) BandConly

v D) A BandC

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,219
Qu estion 21 Primary 4 Science » Primary 4 Science (Term 2)

The Lible shows some matter classified o 2 groups.

Group X Group ¥
Smike Fag
B Coygen Tabie
Cawtaon Soxide Computer

VWhich of the following correctly identifies the differsn properties of maiter in the

taibbe above?t -
Group X Group T
Dafinile ahapa | Definite volume | Definits shape uaﬂnifnudu_-ﬁa
-l we | M Yes Yes
[ Yes ~ Ro o - Mo |
@ [ ves Vas Mo Ves |
| Mo T He | Ves | ho =}
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v A) 1
B) 2
c) 3
D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 22

A) Water has mass

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 23

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,228

Which property of water does this show?

B) Water has a definite volume
C) Water cannot be compressed

v' D) Water does not have a definite shape

Muiltiple Choice

No

Wed 30th Sep 2020
N/A

23,981,243
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Primary 4 Science » Primary 4 Science (Term 2)

The diagram shows two different glasses with 500mi of waier.

Primary 4 Science » Primary 4 Science (Term 2)
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v

A)

Chane placed 3 objects,

balow,

cne al & lime Wio a beaker of water as shown m the diagram

ClassMarker - Manage Test

Based on her ohssvalions, she made the

Hemnker with
waler and
Oblect W

Wiich atatemeant is comesl?

Object X has the smallest mass

B) Object W has the biggest volume

C) Object W has a bigger mass than Object Y

D) Object Y has a smaller volumer than Object X

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question

24

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,314

Study the dassification table bedow

?_

| Has a dafinite shaps

|
[_ Matter A ]

Blesker with
water amd

Cibgact

fallowing ennchesions.

Primary 4 Science » Primary 4 Science (Term 2)

HaE no daﬁn&a shispes

|

l

Can be compressad l t Gmnnthm.:nnprmuu

l bhatter B ] | Mattesr ©°
Whilch of the following correclly reprasants Matber &, B and G
. Watler A Miatier B “tatter G
['l:l e EyTup Jl,m lefevigion
{2 belevision smoke bl
i3 berbovizaon light sy
() juice : By | ligh
A) 1

https://www.classmarker.com/a/tests/test/?test_id=1532895&trk=edittest_inrow_edit

2 pts

16/38


https://0cm.classmarker.com/6226088_0AX7O520.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1532895&question_id=23981314
https://www.classmarker.com/a/tests/qb/manage/?test_id=1532895&question_id=23981314&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1532895
https://0cm.classmarker.com/6226088_ECYDVUJC.png

8/6/2021
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C) 3
D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,322
Question 25
Which one of the following is a source of light?
v A)

The sun
B)
o
The moaon
C)
A diamond ring
D)

ClassMarker - Manage Test
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A Fmirror
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,339
Qu estion 26 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

A dal:lnuga; was placed an a table kacing the window. The able below shows how
the inbensity of lght changes with bme.,

Time (minotes) lnsbensity of light (iux) |
[ 0 __ 240

i 1 ErE |
) 2 345
3 S60

4 674 B

Whict of the folowing statements istane possibie explanationis) for the sudden
charge in light infenally after 3 minutes?

P : Light was twmiad on
O : Light weas turmned off

R : Sunigght came: info the room
S : The curtains were fully closed

A) Ponly

v' B) PandR only
C) Qand Sonly
D) P,Rand S only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 30th Sep 2020

Last Modified: N/A

QID#: 23,981,350
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Mala used some matarials o conduc an experimant io find the amount of fight that
pas=ed through the materials. She classified the matarals in fe table below.

A ] £
" Clear glass | Tracing paper Hook
"" Clear plastic | Mimor Cardboand

A) book
v' B) mirror
C) cardboard

D) clear plastic

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 28

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,360

Baszad on the table above. which of the following materials was classified wrongly?

Primary 4 Science » Primary 4 Science (Term 2)

Ay set up an axperiment a5 shown below. She wanled fo li_r'l::l ourt the amount af
light that can pass through diffarent malekls.

L]

Torch

Materiat

She recorded the msidls 23 shown in the abis below

Material | Amount of light measured by light sensor |
A B
] 10
C 2 ——
R &

darkesl?

A) A
B) B
v C) C

D) D

Which matenal should be used 1o make a curtain that can keeg (e room the

https://www.classmarker.com/a/tests/test/?test_id=1532895&trk=edittest_inrow_edit
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 29

Booklet B
This section is desi

was designed in su

0 rrrim bes.

Eght

S0 muinutesT

A) A
B) B
v C) C

Question Type:

Date Added:
Last Modified:
QID#:

Based on Weiming
showed.

Question Type:
Date Added:
Last Modified:
QID#:

5'-'"."'“—.—1"-.._;:"

Question 30

ClassMarker - Manage Test

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,367

Primary 4 Science » Primary 4 Science (Term 2)

gned for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it

ch a way that it requires manual assistance.

Weaiming learnt that meshwonms prefer dark places. He dechded to camy out an
seperiment as shown balow. He placed some maakvorms in & partially covared
box. He then swiiched on fhe light source and observed the meakworms for

[\ S

e

L—— resbourt
siand

tracing coverad with
papsi  a black lid

meal'nmng__l!m._ 5 .

Iri which position, A, B or G, will the meatwonms most likely be 0 after

(1]

Multiple Choice

Randomize Answers: No

Wed 30th Sep 2020
N/A
23,981,378

Primary 4 Science » Primary 4 Science (Term 2)

's observation, state 2 characteristics of the living things that the mealworms

Essay

Wed 30th Sep 2020
N/A

23,981,389
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Correctly answered feedback

i) Living things respond to changes
ii) Living things move by themselves

Incorrectly answered feedback

i) Living things respond to changes
ii) Living things move by themselves

Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Question 31

The Lable balow chows the characterstics of four plants, P, O, R and 5

| Characteristica PTa@| R[S
Bear fruits. v s
Grows o land | "
Giows in watar | v |

The hegding for par (i) in the dassification chart below is missing.

Fill in the bank with the cormac] heading [1
Ptants
1
i = 1
F:':l ‘ Mon-flowering
| — |
L rows on Grows in Grows on Groes in
Eand witler Eaernck wiler
| i I
Accepted answers:
v flowering
Question Type: Free Text
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,402
Question 32 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Llagsily the four plants in the chart belw by writing P, O, R and S in the cormact

Dames (2}
Planits |

f : =

"{!] Maon-lhrwering
| __l_*l

| ] N
Grows on Giows in (Srows on {Grows in
land wabar tand wabar

|

Accepted answers:
v SQRP
v S,QR,P
v S,Q,RP

¥'s,Q,R,P

Question Type: Free Text

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,430

Question 33
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0.5 pts
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An expenmend was conducked to best the strength of four diferent materials,
Wi, X, f, and Z. These materals wee of the same thickness and bengih.
Wedghls were released froem he same halght onto each materiad as shown below,

=

mabaial

The number of welghls used before each metenal broke was recorded in

the graph bekw.

Mumber of 1
waights

L

+ Type ol

W

maleriaks

IchenilEly the comect wasfabies and put a2 " in the comect bowes o make he
experiment a fair ong.

of material:

A) same variable
¥ B) changed variable

C) measure variable

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 34

Length of material:

v A) same variable

B) changed variable

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Multiple Choice

No

Wed 30th Sep 2020
N/A

23,981,452

C) measured variable

Muiltiple Choice

No

Wed 30th Sep 2020
N/A

23,981,459

(2]

Primary 4 Science » Primary 4 Science (Term 2)

Type

0.5 pts
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Question 35 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Number of weights

A) same variable
B) changed variable

v C) measured variable

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 30th Sep 2020
Last Modified: N/A

QID#: 23,981,464

Question 36 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Height from where the weights were released:

v A) same variable
B) changed variable

C) measured variable

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 30th Sep 2020

Last Modified: N/A
QID#: 23,981,476

Question 37 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Based on the result above, which one of the material (W,X,Y or Z) is the most suitable material to make
a table? Give a reason to support your answer.

Question Type: Essay
Date Added: Wed 30th Sep 2020

Last Modified: N/A
QID#: 23,981,493

Correctly answered feedback
Material Y, it has the most amount of weights making it the strongest material to make a table

Incorrectly answered feedback
Material Y, it has the most amount of weights making it the strongest material to make a table
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Question 38

The diagram shows ibe life oycla of animal [

Mame stages X and ¥ [y

Slage X

Accepted answers:

¥’ Young

Question Type: Free Text

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,504

Primary 4 Science » Primary 4 Science (Term 2)

Question 39

Stage ¥

Accepted answers:

v adult

Question Type: Free Text

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,509

Primary 4 Science » Primary 4 Science (Term 2)

Question 40

Stae a difference between stage X and Y

Question Type: Essay

https://www.classmarker.com/a/tests/test/?test_id=1532895&trk=edittest_inrow_edit

0.5 pts

0.5 pts

0 pts
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Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,526

Correctly answered feedback
Stage Y has wings while stage X does not have wings

Incorrectly answered feedback

Stage Y has wings while stage X does not have wings

Question 41

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

A deagraim of lhe He cyele of animal © 5 shown badow.

i Draw the life cycle of the animal S in the space balow,

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,551

Correctly answered feedback

Egg:' larva, pu pa:'ad alt

Incorrectly answered feedback

eg_g:' larva, pu pa:'ad alt
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Question 42
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Name another animal which has a similar life cycle to animal C

Accepted answers:

v butterfly

Question Type: Free Text

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,566

Primary 4 Science » Primary 4 Science (Term 2)

Question 43

The female of animal C often lays many eggs at one time. Give a reason for this

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,579

Correctly answered feedback
If an egg is to be eaten by a predator, the rest of the eggs can still hatch and grow into adulthood

Incorrectly answered feedback
If an egg is to be eaten by a predator, the rest of the eggs can still hatch and grow into adulthood

Primary 4 Science » Primary 4 Science (Term 2)

Question 44
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e n | T

Fhe life cycle of  boan plant 5 shown baiow

Slage 1

() Slate two differences batwaen (ha lif cyefia o animal
(Mo ot compans the sizs and shape, e =

1
i

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,597

Correctly answered feedback

, “:;i] Andmal C's lifecycle has 4 stages while the bean plant’s fifecycle has
5 5.
diil) Animal C's lifecycle starts with man while i
v eges while the bean plant
lifecycle starts with one seed. RS

Incorrectly answered feedback

, I‘aI:] Anbimial C's lifecycle has 4 stages while the bean plant's lifecycle has
5 kN
dii) Animal C's lifecycle starts with man while '
¥ egus while the bean plant
lifecycle starts with one seed. el

Qu estion 45 Primary 4 Science » Primary 4 Science (Term 2)
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dun Jie sl up B faliowing o find oul hiow seads ganminite.

Sef-up B

Selup &

() lmwhich set-up would fhe poeads mos| Brely germinate after o fow days?

it Explain wy 11}

(i) Marme twa other condions required Tor gemminafion o ocour, ]

e

Aftar a fow wesks, fhe germinalsd seeds were seen growing fowards an open
warvona B8 BRoW in e disgram balow.

b} Wity wers the seedlings growing in the direction shown? (1

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,658

Correctly answered feedback

i) The seeds in set-up A will perminate after a few days becaiize it has
moist soil and a seed needs water to perminate.

ali) A seed also needs air and warmth b0 perminate.

7} Itis growing toward s the window because it needs sunlight B
photosyn thesis i

Incorrectly answered feedback

e s s L

i) The seeds in set-up A will perminate after a fow days because it has
maist soil and a seed needs water to germinate.
ali} A seed also needs air and warmth o perminate.

2} Itis growing toward s the window because it needs sunlight T
photosyn thesis i

Qu estion 46 Primary 4 Science » Primary 4 Science (Term 2)
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Sitl walghed three similar sized balle an a baam balance as shown below,

Accepted answers:
v cba
v ¢cba
v ¢cb,a
v ¢, b, a
Y ¢,b,a

v CBA

Question 47

plastic?

A) A
B) B
v C) c

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 48

B G 5
ilf\ \
Asrangs the baits & order from (e lightest to the haaviest [
Lighlest » Haawkesl

Question Type: Free Text

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,698

Muiltiple Choice

No

Wed 30th Sep 2020
N/A

23,981,706

Primary 4 Science » Primary 4 Science (Term 2)

The balls were made of different materials, wood, metal and plastic. Which ball A, B or C is made of

Primary 4 Science » Primary 4 Science (Term 2)
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Question 49

What can you conclude about air from the above experiment?

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,721

Correctly answered feedback

Air has mass

Incorrectly answered feedback

Air has mass

Question 50
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Sl e decided bo besd lhe mass of B similar bafioons, & and B o |
i ¥ hangeag livem
an A lewer balanca &= shown below, Bolf baloons wers hinged at an equal
distanon am lhe cerie and S lover was balanoed,
| shing
lever
ballaon A& ey O_IHIHIMB
" {m'" ihen poked ballocn B o lat e air aul
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b Hurnar filed up conlainer A wilth S00m) ol waler as shown belmw,  He then gently
kwwered @ metal cube to the bottom of the container,
-—mzlill cuba
containes & —
S06mil-of watar-- kmr
{a) Kumar phserved that some water flowed out of container A ingo the beaker when
the melal cube sank i complelely. Exolein why, [zl
thy  Knar wies odd lo messse the amoent of seter hal was collestsd in the beakess
accuraialy,
Which ather appamius could be use fo mpiace the beaker? [1]
(e)  Hurmar fhen dedded to use jhe same method abows to measure the volme of 8
shyrofoam cube, -
(e yau think it i posaible? Supgort your snswer with & ressen. [
Question Type: Essay
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,732
Correctly answered feedback
a) The metal cube oocupied the space which was occupled by the water
hence the water had 1o go into the bealer because the water level
increased.
b} He could use a measuring cylinder.
£} Mo, it is not possible becanse Styrofoam Mosts on water so it is not
able to ocowpy space in the wirter,
Incorrectly answered feedback
a) The metal cube occupied the space which was occupied by the water
hence the water had 1o go into the bealer because the water level
increased.
b} He could use a measuring cylinder.
£) Mo, it is not possible becanse Styrofoam foasts on water so it is not
able to ocoupy space in the wirler,
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I Fauwag mverdad a plastic cup sod lowesad i ints 3 tank of waler, The water kel
incraasad in the plastic aup as shown in the dagram,

(A} Exploin why e wabar hevel in i plaslic cup was kwer than Tha wales leuel in the
rark of waksr, EE\]

() I Fauwae pokes a Tew hofes at tha Sottom of the plastio cug and lowars it ime
tha same tank of watar, what will happen to the watar lvel in the plastic cup?

() Give a reasan e your answer in (B

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,741

Correctly answered feedback

@) The water level in the plastic cup was lower than the water level in
the container because there was air trapped inside the plastic cup. Alr in
the cup ocoupies space and there is no opening for air (o escape hence only
some water can enter to fill the cup.

b} It willl increase,
) Air can escape hence water can oceupy the space that was occupled
vy air.

Incorrectly answered feedback

@) The water level in the plastic cup was lower than the water level in
the container because there was air trapped inside the plastic cup. Alrin
the cup occupies space and there is no opening for air (o escape hence only
some water can enter to fill the cup.

b} It willl increase,
€] Air can escape hence water can occupy the space that was occupled
by adr.
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Jamin had substances X and Y. She drow substance X into the syringe and
shserved whislhar e plunger could be pushad in whan one end of the syringe Is
covarsd wilh har finger, as seen in [he diagram balow, She then repeated the

mxprEmen with subsiance Y.
plun{gar noicreE

ﬂJ’L}_'J; fnger
sytinge

Thea plunger could bo pushed n sasily for substance X bl could reol be pushed in
at all for subslance Y,

identEhy the states of malts of subslance Xoand Y. i1

Subsiance K

Accepted answers:

gas
Question Type: Free Text
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,753
Question 53 Primary 4 Science » Primary 4 Science (Term 2)
Substance Y:
Accepted answers:
liquid

Question Type: Free Text

Date Added: Wed 30th Sep 2020

Last Modified: N/A

QID#: 23,981,756
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Explain your answer in (a).

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,764

Correctly answered feedback
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Gases can be compressed while liquids cannot be compressed

Incorrectly answered feedback
Gases can be compressed while liquids cannot be compressed
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Jamie then drew 50mi of waler with the syringa and tranafersd all the water into
art ermpty beaker as shown in the disggram below

(i tho volume of waer in the haaker increese, decrease or remain lhe sama? 1]

A) increase
B) decrease

¥ C) remain the same

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 30th Sep 2020

Last Modified: N/A

QID#: 23,981,771
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Give a reason for your answer in (c).

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,775

Correctly answered feedback
Liquids have a definite volume

Incorrectly answered feedback
Liquids have a definite volume
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Al Ling placed four cardboards in & alraight lns b a wall-Ut ream balow
ih:uun:hu;l a ole in esch of lhe cardbosnds, E:n‘a than phl:.m?m chrwurs
m:::;l of the candboards and fried 1o see the vasa Hwrough the holes fram the

card boands

r\P\"\_ﬂf"E'"

” ” ﬂ hales In cardboands

fa)  Why was Ad Ling nol able to ses the vase from the position as shawn in the

diagraim pove? i

Al Ling decided fa vse 2 mirmoes In lhe
as shown balmg, SAME sekup ta anable her ko see the vase

i ardboards
lamp
posilion of
]:;-.-—- A Lings
i 1 m

miliroe

() Describe how Ai Ling i abls jo see e wase. 2]

[} What praperty of lght was Al Ling trying to show in i expariment?

Question Type: Essay

Date Added: Wed 30th Sep 2020

Last Modified: N/A
QID#: 23,981,784

Correctly answered feedback
a) She could not see it because the holes were not aligned.
b} Light from the lamp shines on the vaze. The vase reflects the light
onto the mirror and into Ai Ling's eyes.
] Light travels in a straight line,

Incorrectly answered feedback
a) She could not see it because the holes were not aligned.
b) Light from the lamp shines on the vaze. The vase reflects the light
onto the mirror and into Ai Ling's eyes.
] Light travels in a straight line.
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A datalogoer was used to measura tha amount of light passing hrougl thres
diffarant materals. 5, T and L. The result was recorded as shown balow.

4001

3001

2001~

100

WaVl IR L AN o oW e Material U

B P T e P s MateniEa] T

Maweral 5

Fame (saconds)

accordingly.
Clear glass : Maberial

A) S
B) T
v C) u

Question Type: Multiple Choice
Randomize Answers: No

Question 59

Cardboard: Materia

v A) s
B) T

c) u

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,792

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,796

40

s =
g

60 BO

\  Based on the result above, identify the following malerals by witing S, T or U
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Writing paper: Material ____
A) S
v B) T
C) U
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,799
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Question 61

Based on the experiment above, which material S, T or U is suitable to be made into a fish tank?
Support your choice with a reason

Question Type: Essay

Date Added: Wed 30th Sep 2020
Last Modified: N/A
QID#: 23,981,810

Correctly answered feedback
Material U. It allows the most amount of light to pass through

Incorrectly answered feedback
Material U. It allows the most amount of light to pass through

www.classmarker.com

https://www.classmarker.com/a/tests/test/?test_id=1532895&trk=edittest_inrow_edit 38/38


https://www.classmarker.com/a/tests/qb/manage/?test_id=1532895&question_id=23981799
https://www.classmarker.com/a/tests/qb/manage/?test_id=1532895&question_id=23981799&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1532895
https://www.classmarker.com/a/tests/qb/manage/?test_id=1532895&question_id=23981810
https://www.classmarker.com/a/tests/qb/manage/?test_id=1532895&question_id=23981810&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1532895

